lb-4 7 13,15, 14
6.5 5, 7, 4, 1

164

7)) Glwv)=(2utv, uHv, 3u) m=1 vV=¢
. / A

rluy) = (Zw'V)/)\-} (’M-‘/v)/J\ + 3y K

Ty=2i+154 3R <Tu

re= 4 -43+o0fk =Tw

NLM,V)‘I’ u Xry= 3("" ((—3>

P=cci4)=C6,-15, 3>

Y (x-6)+ (y115) -3(2-3)=0

13|jf5 £x,y,2) d3

Cluw)® (ucsv, usiv am) , 0£usl ,0<y<l
flx,v2)” 2 (X ey?)

flfi au(@ueosv)? 4 (usinv)®) - E'\L dudv=c VZ
0 /90 3

Nluv)= bu % 6v = o5y sinv, 124 £ _ast AV, WcosY, 0> =
é“uwav!_ugin\/; wd> =2 INU>JZ An

I5) 4y=9-2° 6L %xe3  0La:3  Fixyacz

FLelwud) = Lu, a-V2y)

Ta = <1,0,0> N= TaxTys €6,-1,-2V7
Tv= 4ol-zm> WN I = NTrqu?

flswx/m‘l mdv= 3291 -) o S&o?
(4

—————

by

M) Xz-ryzv" , 0& zé'—/} Fo,y2) = e
G682y - (2co50,28in0,2) Ob&£bc2v OL 22y
Tb =<4 -25i N6 | 20056, o, T7-= (0/ D/ | > N= ToxTz=L2ceso, 2s;in6,0?
r
Wi=2 — 22 dodz = Y e~
[ > jo. ); <2 fodz (| )



les  $,9,9 0
s) Fedy,2,2> plane 3x-Apt2zl , 0% xel, OLve(, ypuwd
CLew)= L x 1 1-3%XtHY>  0Lx, y 4|

Tx ={l0,-3>  nlx,y)- TaxTy= <3-49,00
Ty ” €014

Al LAl
- = —13 -—q - —
[}; FL6LX,y))-n(k,y) By J; [6 1 3%~ 13y éagd7 q

7) Feloyyx>  xPeyTeasT X206, y25; 226 ouwtwars

£coy 9) = ( 3cose sing, zsinosing, 3cosd), DLocT/2 DES ()3 T2

Té = £ -Sinesing, 3wsesing, O > N=ToxT ¢ = <Lt9cosesin®p,rsine s‘in2¢, Hsinbeosp D
Tp = L3cspcos, 38ind cosh; ~33ind>

Flecp,p))= €0} 3 3csesing>

%
Jf’;?:‘teco,m)-? dedp = 27 (3T+4) yu&{
b [2 etz

4) F=(2/2_,'x> 2=Q~')(Q-yo\ xX20) y20, 225 Wuwe A

lrio)~ Lreow rsine, a—(7) o0 &Ere3, ot HLMA

Tr= L (P50 sine~2r” Te =<~ rsrne, reose 02 N~ ¢ 2r%ose wUkine R
14 'g - P S J -
[f Fletrm) "N 0Y30 ™ 613 4 YUug
0 S mealy

2
ll) F-VYit2j-xK Xtyta=| n the octtvi- X,y ,25 0

€(u,v): CuV, l-u-v2 f_,f, FlECun) - 7 dudy - _L“Z
Flélww = £vE2 ,-u? o I
T\Q=él‘0|—t> o

Tv=2041-12 W Mﬂe

n= Ll;l,)



